
24

3839

32

42

31

43

34

371

28

27

26

38
22

29
35

6
18

21

39
40

20
19

17
16

13
1514

3

10

4

59

11
25

7

33
8

39

12

18

23

VERSION 1 WITH
DOUBLE LIP SEAL

VERSION 2 - WITH
BELLOWS SEAL (ITEM 2)
REPLACES ITEMS 14,15

36

52

55

54
53

20

30

54

2

58

6" CENTRIFUGAL PUMP BOM
ITEM 
NO. CR60007-1/QTY. CR60007/QTY. PART NUMBER DESCRIPTION MATERIAL PRICE COMMON

1 1 1 CR39403-1 SHAFT STAINLESS STEEL 316 £374.00

2 1 1 CR10018-1 SEAL ASSEMBLY BELLOWS SS £348.00 4.5

3 - 1 CR10010-1 RING, SEAL SS 17-4 PH COND A £80.00 4.5

4 - 1 CR10011-3 SHIM BRASS OR COPPER £3.00 4.5

5 - 1 CR14037-1 IMPELLOR ALUMINIUM/BRONZE £425.00

6 1 1 CR70055-015 IMPELLOR KEY 0.125" X 1.5" STAINLESS STEEL 304 £4.00 4.5

7 1 1 CR16963-1 CAP, IMPELLOR ALUMINIUM £103.00

8 1 1 CR14056-1 SCREW, IMPELLOR STAINLESS STEEL 303 £51.00

9 - 1 CR22047-1 WEAR RING BRONZE BRONZE £109.00

10 - 1 CR22048-1 WEAR RING BRONZE BRONZE £92.00

11 1 1 CR10563-1 VOLUTE ASSY ALUMINIUM/BRONZE £667.00

12 - 1 CR80130 O RING

13 - 1 CR00618 GASKET, SPIRAL WOUND STAINLESS STEEL 316 £24.00

14 1 1 CR60003 LIP SEAL, DOUBLE £133.00 4.5

15 1 1 CR60004 LIP SEAL CARRIER STAINLESS STEEL 304 £88.00 4.5

16 - 1 CR10769-1 BACKPLATE ALUMINIUM 6205 £342.00

17 - 1 CR10802-1 INSULATOR SRBF £9.00

18 - 2 CR86306 RING, BACK UP TEFLON £3.00 4.5

19 1 1 CR10009-1 SLINGER ALUMINIUM / SS £48.00 4.5

20 4 4 SSCUPSKT 0.164-32x0.625-HX-N SCREW, SOCKET HEAD, CUP POINT STAINLESS STEEL £1.00

21 1 1 CR41632-1 CAP, BEARING ALUMINIUM / SS £116.00 4.5

22 1 1 CR41645-1 HOUSING ASSEMBLY, BEARING STAINLESS STEEL 304 £863.00 4.5

23 1 1 CR80033 O RING BUNA £2.00 4.5

24 1 1 CR60001 GASKET, DISCHARGE PILOT GASKET £16.00

25 1 1 CR60002 GASKET, SUCTION PILOT GASKET £16.00

26 2 2 SKF - 6205 - 12,DE,NC,12_68 BEARING, BALL £25.00 4.5

27 1 1 CR39405-1 SPACER, SHAFT BEARING 1" SHED 40 SS £91.00

28 1 1 CR00705 LOCKNUT, BEARING BH-05 £18.00 4.5

29 1 1 CR70056-008 KEY STAINLESS STEEL 3/16 
X 1" £4.00 4.5

30 - 1 CR41631-2 FOOT MOUNT ALLUMINIUM

31 1 1 CR05166-009 COUPLING C/S £125.00 4.5

32 1 1 CR41658-2 GUARD, COUPLING

33 1 1 CR99900-002 WIRE, SAFETY STAINLESS STEEL 
0.025 X 3" £4.00 4.5

34 1 1 CR08127-003 MOTOR, HYDRAULIC F11-5 MBCNK £750.00 4.5

35 3 3 CR70021-017 STUD STAINLESS STEEL 
5/16 £7.00 4.5

36 9 9 CR00050 WASHER, STAR LOCK STAINLESS STEEL £2.00

37 5 5 CR99002-060 HBOLT 0.3125-18x1.125 STAINLESS STEEL

38 - 6 CR99000-054 HEX NUT 5/16 UNC 3/8"UNC £1.00 4.5

39 8 8 FW 0.25 WASHER FLAT STAINLESS STEEL £2.00 4.5

40 4 4 CR99002-061 HBOLT 0.3125-18x1.50 STAINLESS STEEL

41 N/R

42 4 4 FW 0.164 FLAT WASHER STAINLESS STEEL 4.5

43 - 4 CR0642 SOCKET HEAD SCREW £4.00 LMPD 2

44 N/R

45 N/R

46 N/R

47 N/R

48 N/R

49 N/R

50 N/R

51 N/R

52 4 2 CR20025 SCREW, SOCKET HEAD, CUP POINT STAINLESS STEEL £1.00

53 - 2 CR407 M10x45 HEX HEAD BOLT

54 - 4 CR407-1 M10 WASHER

55 - 2 CR407-2 M10 NYLOCK

56 1 1 CR60010 LIP SEAL KIT INC 13,14,15,18,19,24,27,29,33 £248.00

57 1 1 CR60011 BELLOWS SEAL KIT INC 2,3,4,13,14,15,18,19,24,27,29,33 £546.00

58 1 1 CR54350054 CENTRIFUGAL COMPLETE WITH MOTOR £3400.00

59 1 1 CR60007 CENTRIFUGAL, LESS MOTOR & COUPLING £2200.00

60 4 - CR99001-617 NUT, HEX 3/8"UNC £1.00 4.5

61 5 - HBOLT 0.3125-18x1.75x1.75-N STAINLESS STEEL

62 3 - Hex Nut_AI

63 - 1 HNUT 0.6250-18-D-N NUT, HEX 3/8"UNC £1.00 4.5

64 4 - HX-SHCS 0.3125-18x2x2-N 5/16 - 18 UNC X 1SOCKET HEAD SCREW

CRYOGENIC &
INDUSTRIAL SPARES

 

tel: +44(0)1493 732700
fax: +44(0)1493 733277

e-mail: cryoind@btconnect.com
www.crogenicind.com

 

CRCP 100 CENTRIFUGAL PUMP 1.5"x2.5"x6" 

DRG REF:-CWD-051-1


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4


